[bookmark: _GoBack]#include "gtest.h"

GTEST_API_ int main(int argc, char **argv) {
  testing::InitGoogleTest(&argc, argv);
  return RUN_ALL_TESTS();
}

// Tests factorial of 0.
TEST(FactorialTest, HandlesZeroInput) {
  EXPECT_EQ(1, Factorial(0));
}

// Tests factorial of positive numbers.
TEST(FactorialTest, HandlesPositiveInput) {
  ASSERT_EQ(1, Factorial(1));
  EXPECT_EQ(2, Factorial(2));
  EXPECT_EQ(6, Factorial(3));
  EXPECT_EQ(40320, Factorial(8));
}


short Factorial(short n){
	int p=1;
	for(int i=1; i<n; ++i) p*=i;
	return p;
}


[==========] Running 2 tests from 1 test case.
[----------] Global test environment set-up.
[----------] 2 tests from FactorialTest
[ RUN      ] FactorialTest.HandlesZeroInput
[       OK ] FactorialTest.HandlesZeroInput (0 ms)
[ RUN      ] FactorialTest.HandlesPositiveInput
d:\fromhome\stud\vc2005\gtest\gtest.cpp(25): error: Value of: Factorial(2)
  Actual: 1
Expected: 2
d:\fromhome\stud\vc2005\gtest\gtest.cpp(26): error: Value of: Factorial(3)
  Actual: 2
Expected: 6
d:\fromhome\stud\vc2005\gtest\gtest.cpp(27): error: Value of: Factorial(8)
  Actual: 5040
Expected: 40320
[  FAILED  ] FactorialTest.HandlesPositiveInput (13 ms)
[----------] 2 tests from FactorialTest (14 ms total)

[----------] Global test environment tear-down
[==========] 2 tests from 1 test case ran. (16 ms total)
[  PASSED  ] 1 test.
[  FAILED  ] 1 test, listed below:
[  FAILED  ] FactorialTest.HandlesPositiveInput

 1 FAILED TEST


short Factorial(short n){
	int p=1;
	for(int i=1; i<=n; ++i) p*=i;
	return p;
}

[==========] Running 2 tests from 1 test case.
[----------] Global test environment set-up.
[----------] 2 tests from FactorialTest
[ RUN      ] FactorialTest.HandlesZeroInput
[       OK ] FactorialTest.HandlesZeroInput (0 ms)
[ RUN      ] FactorialTest.HandlesPositiveInput
d:\fromhome\stud\vc2005\gtest\gtest.cpp(27): error: Value of: Factorial(8)
  Actual: -25216
Expected: 40320
[  FAILED  ] FactorialTest.HandlesPositiveInput (1 ms)
[----------] 2 tests from FactorialTest (2 ms total)

[----------] Global test environment tear-down
[==========] 2 tests from 1 test case ran. (3 ms total)
[  PASSED  ] 1 test.
[  FAILED  ] 1 test, listed below:
[  FAILED  ] FactorialTest.HandlesPositiveInput

 1 FAILED TEST


int Factorial(int n){
	int p=1;
	for(int i=1; i<=n; ++i) p*=i;
	return p;
}

[==========] Running 2 tests from 1 test case.
[----------] Global test environment set-up.
[----------] 2 tests from FactorialTest
[ RUN      ] FactorialTest.HandlesZeroInput
[       OK ] FactorialTest.HandlesZeroInput (0 ms)
[ RUN      ] FactorialTest.HandlesPositiveInput
[       OK ] FactorialTest.HandlesPositiveInput (0 ms)
[----------] 2 tests from FactorialTest (1 ms total)

[----------] Global test environment tear-down
[==========] 2 tests from 1 test case ran. (2 ms total)
[  PASSED  ] 2 tests.

